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SRR ERER(BR)

LAV L~IL2 L~JL3 LRIL4 L ~JL5
IE=XS I& &5l Eiball ke B He L &
M4
9)-ME L5 PCH&ET FHT 7 VivyaviT L=15.904 H=0.600 87 Fo 1 1 |64
1 LA HKEEILZIL
AT (AL:Fix) T LA 7039200 x 42mm  1#% m 7.04 7.0 |0.212 m3/10m
RIS T ERE SD295A D10 t 0.052 0.05 [D10 x50 x50
ST AT -3 E Trh—HENLZIL
ZAHIREE S35CN F65D L=1250 izl 7 710.015 m3/42
1 LA HKEEILZIL
AT (A2:Mov) T LA 8403 x 200 x 42mm 1% m 8.40 8.4 10.211 m3/10m
RIS TR SD295A D10 t 0.062 0.06 [D10 x50 x50
ST AT -3 E Trh—HENLEIL
ZAHIREE S35CN M42D L=1150 # 8 8 10.008 m3/42
RET BEEED » DPCHIZRER T (4M7)
(I L—r5E HiEREs SHTEE 11.190t ¥ 2 2
BAEEH H DPCHTLREZ T (FH7)
PHTE S 11.178t ¥ 6 6
TLTF vy a VKRR
T 4)-+ 30-8-20 m3 8.2 8
W =2.482 kg/m
PCH-7" I SWPR19L 1521.8mm m 156.39 156 |248.2kg/100m
ik 570kN(60t)1521.8mm ¥ 26 26
EE#L
w2 a R I% 1 1 | A 44526
) BB RS T m 32.0 32 |ZEBA#
SRH L ARAR T 77 SD345 D16~D25 —f&#&E ) t 0.927 0.93 |927kg
SD345 D13 — i t 0.085 0.09 |85kg
B F T D19F3 il 155 155
KB REE)
Y-+ 24-12-25(20)BB m3 7.3 7
—RREI
B RIS m2 28.8 29
FIRT R LXRT = 1.0 1

B2




SRR ERER(BR)

LA L LA 2 L~L3 LA 4 LARILE
IEX% I& [Ew 5! ke HAL He stk %
Y aA b R IERFERE (A1)6.136+(A2)7.662=13.798 m
BREEYT fRiEERET (A1 - A2) R ETHTER50.04 X 0.4=0.016m2 = 1 1 |1Ek#413.8m, > —L#42.7L
BEoKHE 2005150 Tty + HeAkE W=9.4kg/#8
BAHEKT 2 >/ HE/kE STKR400 100x50x3.2 | AT 2 2
Pk A THRBET(AR A7)
TBEBHK VP40 L=1050mm Elan 1 1
HEk A TRET(BLR A7)
VP40 L=1400mm Sz 1 1
HEok A TREI(CR A )
VP40 L=730mm Elzn 1 1
Pk XA TRET(DEXAT)
VP40 L=800mm Elzn 1 1
)=+ BREHREEY)
HWEL BRTHE 24-12-25(20)BB m3 12.9 13
—RRR
HEHEIEY m2 51.9 52
KEHT
SD345D13 t 0.810 0.81 |810kg
BRR S
BRASHT BRASMH CT& 38 H=850 X v ¥ m 325 33 |FM-K385C
WET R FrEY-+ 18-8-25(20)BB m3 7.9 8
R — R m2 0.2 0.2
EERBWOR FEREWD AR EDX
ERE T EER F5570-7 100t B EL20tBUTF | @ 1 1

B/R2




T H H Bk B e = i B
T * i ES # VN 8 [L=15.904 H=0.600m
’g ShMTI AR Y 2 B & t | 11.190
V& hoMr LR Y 2 & t | 11.178
L x il = s t 89. 4
ST 1 ARY 72D
T H H B % B # = i B
ED #t ZN # H=600 EN 2
= v 7 Uy — } o ck=50N/mn? m 4.5
x il = s t | 11.190
2] e ot 19.6
- " Uit e of 0.7
+ W e nt 18.4
Hr JEE P m | 15.904
L D13 t | 0.420
g #  ( SD345 ) D10 t 0. 029
&t t 0. 449
P C i M SWPR7BL 1S15. 2mm kg 280 [W=1.101 kg/m
Mo oD v = A ¢ 42 m 15.2
AT 1AM 7=
T H H B % HL [ # & i B
ED #t ZN # H=600 EN 6
= N 4 Jy — k o ck=50N/mn? m 4.5
x il = & t | 11.178
181 S nt 19.5
- " Uit e ot 0.7
+ W e of 18.4
#t JEE e m | 15.904
L D13 t | 0.420
# # ( SD345 ) D10 t 0. 029
&t t 0. 449
P C # o SWPR7BL 1S15. 2mm kg 280 [W=1.101 kg/m
Mo v v — = ¢ 42 m 15.2
o . & & F 7039 X 200 X 42 K 1
M 8403 X 200 X 42 e 1
- F F65D X 1250 bl 7 |W=26. 00kg/m/#H
M M42D X 1150 bl 8 [W=10. 90kg/m/#H
? o s o 8k W r SD345°4SD295 D10 |—- 0. 052
T M t 0. 062
Loy & F " o | 0.149 |0.149/7.039%10=0. 212 m3/10m
N M e v m | 0.177 [0.177/8.403%10=0. 211 m3/10m
I F WAL 5L m | 0.107 |0.107/7=0.015 m3/#A
M m 0. 065 |0.065/8=0. 008 m3/#H




TAf I H B % HAL| B & fifi
= v 7 U — b o ck=30N/mni m 8.2
7 " M & o &g of 8.7
Ui P nt 1.7
P C 1 o SWPR19L 1S21. 8mm ke | 388.2 [W=2.482 kg/m
D — 2 ¢35 m 40.3
i 77 7 [ m 40.3
'%Iﬂ i &5 H 1521. Sumf] £FEHE A 52
B G T 1S21. 8mm N 26
ro— 7 L # S T m | 156.39
B £ T of 15.6
2 5 T m 32.0
= v 7 U — b o ck=24N/mni n 7.3
! e ot 28.8
B A T o 12.2
D25 t 0. 000
D22 t 0. 000
D25~D16 D19 t 0. 332
IS 1t 1 090 b emingkns
/R t 0.332
D13 t 0. 000
D10 t 0. 000
aF t 0.332
D25 t 0. 000
D22 t 0. 053
D25~D16 D19 t 0. 467
B #5  ( sp3s ) pio E 1 0407 Fo it e
/NEF t 0.927
IS D13 t 0. 085
; /21: t | 0.000
iz a7 t 1.012
I D25 t 0. 000
D22 t 0. 053
D25~D16 D19 t 0. 799
D16 t 0. 407
/NEE t 1. 259
D13 t 0. 085
D10 t 0. 000
aat t 1. 344
D19 1 0
A4 Y% —=s7 A= D164 i 173 [THTHLA
D134 18 0
D22 *H 0
B i ik F D19H A 155
D16 #H 0
b eitEel t 0.595 |[-150x75x6. 5x10
B3 £ T £ 8 t 0.194 |[J-100x100x3. 2
PCHiE ¢ 26 t 0. 040




T I H ¥ B 0 = &
{H W 4> L7 VALV AVaA M| m 13.8 [(A1)6. 136+ (A2) 7. 662=13. 798 m
il - 5 4 = — FCai— | L 3.3
- Gl P & il Ty w’ 0.22
i 1k K B ADTA R m 13.8
ik ok WEH T — 7 FCTF—7 n 31.13
- D13 kg 14. 4 |f&HM0
B i D13 n 30. 8 | ARARAA
L &t n 45. 2
D — I o Y arE L 2.7
HE K L Vaiil 2.0
BE 7K ik Vil 2.0 [W=9. 4kg/#H
ﬁf e K e STKR400 m 2.0
T
[57] JE BRI X
P s ® i 4|
O w———k  F B i it v
CH T He— T Ao 50mn -
o m 1.05 |AZ A
7% oA s P40A m 1.40 |BZ A 70
m 0.73 |cx A7
m 0.80 D& A7
k&% — 3 F WEgA Migh A v i 4.0
2 > r Uy — k o ck=24N/mnf ol 12.9
71 P it 51.9
D13 t 0. 085
D10 t 0. 000 |EHTHLASRT,
G t 0. 085
% D13 t | 0.810
T # #5  ( sD345 ) D10 t | 0.000 |BEHETER
aF t 0.810
D13 t 0. 895
D10 t 0.000 |& &t
Gt t 0. 895
- W 3 R EE i R BA CfEi H=850 A v m 32.5
i
T
W R f a 3 T
il BT L — k 5Tk i : S
2 T T g 3 e
— —
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TAHTRET

b4Sin HhApfT &t THEWT A i 0. 300%
EMTAEL 2 64 A HEWTAECEL | 1. 000004
FEM T Hh R REA T FiHT Vi
2l 83° 000 00” |83 00 00” |83 00" 007
Fhit 1. 007510 1. 007510 1. 007510
B B E 16000 %
130 EHiE 15904 -
( M1 E 15904 )
‘ i : S
(=3 H H '
© ; ; ;
E : é o
i i H ™
i i | i o
' i o~
Q) '
491 30 | 3469 X 2 30| 500 |30] 3092 X 2
300 30 FE 15304 -
BRI T8 N = 3 » T
CIER
it S AR TR
L1 = 0.4910 X 2 0.982 m
Uit 3 RURRMT AR L
L2 = 0.030 X 2 0.060 m
Uit S BT A LR 2
L3 = 0.030 X 2 0.060 m
H FETREA T
L4 = 0.500 X 3 1.500 m
HR 22 (AT D
L5 = 0.030 X 3 X 2 0.180 m
FEAEE
6 = 15.904 — 0.982 — 0.060 — 0.060 — 1.500 — 0.180 13.122 m
Uil HH 22
L7 = 3.4690 X 2 + 0.060 6.998 m
FE B 2235
8 = 3.092 X 2 6.184 m



1. JidR~TiE
1-1. RS AT ER

(1) i1
()
[e)
[{e)
’ 640 -
Al = 0.580 X 0.600 + 0.060 x 0.100
—  1/2 X 0.030 X 0.030 = 0.3536 nf
1 = 0.500 + 0.030 + 0.042 + 0.070 + 0.600 = 1.242 m
(2) k7
580
! E E
4 :
: e
v i i
A2 = 0.580 X 0.600 = 0.3480 nf

12 = 0.600 X 2 = 1.200 m



1-2. U3 mUREMT AL ED

(1) s
_ 30 640
o
(=3
©
- 670 N
A3 = 0.640 X 0.600 + 0.030 X 0.100
— 1/2 X 0.030 X 0.030 = 0.3866 m
13 = 0.500 + 0.042 + 0.070 + 0.600 = 1.212 m
(2) ik
640
f | |
= s m
Y E E
A = 0.640 X 0.600 = 0.3840 m

14 = 0.600 X 2 = 1.200 m



1-3. RS

w
(e}

580 30

w
o

600
500
%o

B 700 R
A5 = 0.580 X 0.600 4+ 0.060 X 0.100 X 2
—  1/2 X 0.030 X 0.030 X 2 = 0.3591 nf
15 = ( 0.500 + 0.030 + 0.042 + 0.070 ) X 2 = 1.284 m
1-4. FEAESS
30 640 30

500

S A6
§ 700 -
A6 = 0.640 X 0.600 -+ 0.030 X 0.100 X 2
—  1/2 X 0.030 X 0.030 X 2 = 0.389]1 nt

16 = ( 0.500 + 0.042 + 0.070 ) X 2 = 1.224 m



1-5. HZEER
1-5-1. ¥
A
(=]
D~
[ap]
Y
200 | 200
~ 400 ~
AT = 0.400 X 0.370 — 1/2 X 0.050 X 0.050 X 2
— 1/2 X 0.200 x 0.110 X 2 = 0.1235 nf
17 = ( 0.071 + 0.210 + 0.228 ) x 2 + 0.300 = 1.318 m
1-5-2. FRYEHET
A
(=]
D~
[ap]
\
200 | 200
~ 400 ~
A8 = 0.400 X 0.370 — 1/2 X 0.050 X 0.050 X 2
— 1/2 X 0.200 x 0.110 X 2 = 0.1235 nf

18 = ( 0.071 + 0.210 + 0.228 ) X 2 + 0.300 = 1.318 m



2. a7 Y—h ( ock = 50 N/mm® )
2-1. AT
Uit 3 AR
Vi-1 = 0.3536 X 0.982 = 0.347 m/A&
Uit S AT AR L
Vi-2 = 1/2 X ( 0.3536 4+ 0.3866 ) X 0.060 = 0.022 m/AK
Uit 3 BT AL TR 2
Vi-3 = 1/2 % ( 0.3866 4+ 0.3891 ) X 0.060 = 0.023 ni/A
RV REATER
Vi-4 = 0.3591 X 1.500 = 0.539 m/AK
Hh AT AL ER
Vi-5 = 1/2 % ( 0.3591 4+ 0.3891 ) X 0.180 = 0.067 m/AK
FEAEES
Vi-6 = 0.3891 X 13.122 = 5.106 m/A
Uil HR 2=
V-7 = — 0.1235 X 6.998 = -0.864 m/A
FE B 2235
V-8 = — 0.1235 X 6.184 = -0.764 m/A
V1 = 4.476 m/A
2-2. it
Uity 3 AURAAMT R
Vo-1 = 0.3480 X 0.982 = 0.342 m/K
Uit 3 AT R LR L
Vo2 = 1/2 X ( 0.3480 4+ 0.3840 ) X 0.060 = 0.022 m/A&
Uit 3 BT A LR 2
Vo-3 = 1/2 % ( 0.3840 4+ 0.3891 ) X 0.060 = 0.023 m/AK
H FETREA T
Vo-4 = 0.3591 X 1.500 = 0.539 m/A&
R AREAT 2 AR
Vo-5 = 1/2 % ( 0.3591 4+ 0.3891 ) X 0.180 = 0.067 m/A
FEAEE
Vo-6 = 0.3891 X 13.122 = 5.106 m/A
i HR 2=
Vo-7 = — 0.1235 X 6.998 = -0.864 m/A
FE B o 2235
V2-8 = — 0.1235 X 6.184 = -0.764 m/A
V2 = 4.471 m/A
2-3. Mtz U — MEBEAEF
>V = 4.476 X 2 + 4.471 = 35.778
3. FHMTEE
3-1. HMiT
W1l = 4,476 X 2.5 t/m = 11.190 t/A
3-2. ity
w2 = 4,471 X 2.5 t/m = 11. 178 t/A
3-3. FHEEAG
A 11.190 X 2 + 11.178 = 89. 448 +t



4. PR
4-1. AR
4-1-1. M7
Uity 3 AURAAMT R
Al-1 = 1. 242 0. 982 1.220 mi/A
Uit 3 AT AR L
Al-2 = 1/2 ( 1.242 + 1.212 ) X 0.060 0.074 m/A
i S AT LR 2
Al-3 = 1/2 ( 1.212 + 1.224 ) x 0.060 0.073 m/A
H FETREA T
Al-4 = 1.284 1. 500 1.926 mi/A
H RETREAMT 2R AL
Al-5 = 1/2 ( 1.284 + 1.224 ) x 0.180 0.226 m/A
FEAEE
Al-6 = 1.224 13.122 16. 061 mi/A
Al = 19.580 mi/A&
4-1-2. 7
it S AR TR
A2-1 = 1. 200 0. 982 1.178 mi/A
Uit 3 AT AL L
A2-2 = 1/2 ( 1.200 + 1.200 ) X 0.060 0.072 m/A
Uit S AT A LR 2
A2-3 = 1/2 ( 1.200 + 1.224 ) X 0.060 0.073 ni/A
H FETREA T
A2-4 = 1.284 1. 500 1.926 mi/A
H RETREAMT 2R AL
A2-5 = 1/2 ( 1.284 + 1.224 ) x 0.180 0.226 m/A
FEUEER
A2-6 = 1.224 13.122 16.061 mi/A
A2 19.536 m/A&
4-1-3. fAIFEEE
A = 19. 580 2 + 19.536 X 6 156.376 nf
4-2. P
4-2-1. M7
Al = 0. 3536 1.000004 X ( 1.007510 <+ 1.007510 ) 0.713 m/A&
EWT A b fefbfA b fiktA Lt
4-2-2. 7
A2 = 0. 3480 1.000004 X ( 1.007510 <+ 1.007510 ) 0.701 m/A
FEWT A L fERbA L fiktALt
4-2-3. WA EE
SA = 0.713 2 4+ 0.701 X 6 5.632 m



4-3. PP

( 1.007510 + 2 X 1.007510 + 1.007510

(2 X 2 X 1.007510

m /A
i /A
i /A

i /A

4-3-1. ST
il H 4
Al-1 = 1.318
AL v 235
Al-2 = 1.318
Uit o 2 FE R
Al-3 = 0.1235
U] Hh 22 FE
Al-4 = 0. 1235
4-3-2. it
gl H 4
A2-1 = 1.318
FEAES 235
A2-2 = 1.318
Uit Hh o Ze FE R
A2-3 = 0.1235

PRUERD - 22 21
A2—4 0. 1235

( 1.007510 + 2 X 1.007510 + 1.007510

(2 X 2 X 1.007510

i /A

i /A
m /A
i /A

i /A

4-3-3. WHAEE
A = 18.370

4-4, JERE
4-4-1. HMiT

Ll = 15. 904
4-4-2. T

L2 = 15. 904

4-4-3. JEPAEF
L o= 15. 904

18.370 X 6

15.904 X 6

i /A

127.232 i



5. &k ( SD345 )
SR M1 ARK%7=0 1E47-0
(kg) (kg)
D13 420 3360
D10 29 232
a5 449 3592
6. P CHitt
FHT P CHikt 1S15. 2
B ESE® : v, = 1.101 kg/m
6-1. P CHIMILEERE
L, = 15.904 X 16 A& 254. 464 m /A
6-2. P CHiMiitR
SL,= 254.464 X (2 + 6) 2035.712 m
6-3. PCHIMER
W, = P CHIM#IERE X Bk IEE v,
= 254.464 X 1.101 280.2 ke/A
6-4. P CHfiprkE &
IW, = P CHIMRIER X B R IEHE v,
= 2035.712 X 1.101 2241.3 ke
7. BRSO —2 (0 42 )
7-1. HMMiT
i S MR
L = 0.580 X 1.007510 X 2.337 m/A&
H FETREA T PR
Ly = 0.580 X 1.007510 X X 3 10.518 m/A
T U S R R
Liw = 0.580 X 1.007510 X 2.337 m/A&
AR
L. 15.192 m/A
7-2. kT
e Ui S AT
L = 0.580 X 1.007510 X 2.337 m/A
H FETREA T PR
Ly = 0.580 X 1.007510 X X 3 10.518 m/A
T U S REM T R
Liw = 0.580 X 1.007510 X 2.337 m/A
R
L., 15.192 m/A&
7-3. At
L, = 15.192 X 2 + 15.192 X 6 121.536 m



AT

1. 4% EK (CR+ A FF7R)

Al (Fix) 7039 mm X 200 mm X 42 mm n = 1 ®

A2 Mov) 8403 mm X 200 mm X 42 mm n = 1 ¥

2. BfhT A —3EE (S35CN + CR + RY =FL )

Al (Fix) F 65 D L = 1250 mm n = 7
W = 26.00 kg/m X 1.250m X 7 A& = 227.50 kg
A2 (Mov) M 42 D L = 1150 mm n = 8 H
W = 10.90 kg/m X 1.150 m X 8 A& = 100.28 kg
3. flgRA& -8k ( SD3453X1ESD295 )
Al (Fix) D 10 X 50 mm X 50 mm n = 1 &
W = 0.560 X ( 7.150 X 7 + 0.300 X 144 ) X 1 = 52.22 kg
A2 (Mov) D 10 X 50 mm X 50 mm n = 1 f&fr
W = 0.560 X (8.500 X 7 + 0.300 X 171 ) X 1 = 62.05 kg

4, KEEALX L ((EINKEEALZ L)

Al (Fix) V = {(7.169 X 0.330 X 0.030)+(7.199 X 0.360 X 0.030)}

X 1 f&Hr = 0.149 m 3

A2 (Mov) V = {(8.533 X 0.330 X 0.030)+ (8.563 X 0.360 X 0.030)}

X 1 f&Fr = 0.177 m 3

5. Ty h—fHENL 2L ( BIEELZIL )

Al (Fix) V =(1/4 X © X 0.175°2 X 0.720 — 1/4 X © X 0.065 2

X 0.620 ) X 7 f&4T = 0.107 m"3

A2 (Mov) V = (1/4 X © X 0.15072 X 0.490 — 1/4 X 7 X 0.04272

X 0.390 ) X 8 4T = 0.065 m 3



AR T

b4Sin HhApfT &t THEWT A 0. 300%
FHIALL 24 %N 8AN wewrABcE | 1000004
FEM T FH AR T AT
2l 83° 00° 00” |83 00 00” [83° 00 007
Rt 1. 007510 1. 007510 1. 007510
| MR | 770mm
_ 30 EHi R 15904 -
o
[ ! ! (=)
S L : .
=4 I i i
© P ; ;
. e e =
b : : : t=
(QS)) '
491 |30 | 3469 X 2 |30 500 |30 3092 2
300 30 FE 15304 -
BRI T8 N = 3 » T
1. iR~k
1-1. U ARRAHTER
B 190 %
A
S Al
\ J
Al = 0.190 X 0.600 = 0.1140

30



1-2. Vi AT LR L
130
A
S A2
\ J
A2 0.130 X 0.600 = 0.0780 i
1-3. i mUREHT 22 bR 2
130
A
S A3
\ J
[«
[ap)
S
D~
A
30/ 70 (30
A3-1 = 0.130 X 0.500 = 0.0650 i
A3-2 /2 x ( 0.070 + 0.130 ) X 0.030 = 0.0030 nf
A3-3 = 0.070 X 0.070 = 0.0049 i
A3 = 0.0729 m



1-4. RS

190
A
S Ad
\
(=
[ap)
A
300 70| [30
30 30
M= 0.190 X 0.500
+ /2 X ( 0.070 + 0.130 ) X 0.030 = 0.0980 nf
1-5. ARYEAL
130
A
S A5
\
(=
[ap)
A
30_ 70 |30
A5 = 0.130 X 0.500

+ 1/2 x ( 0.070 4+ 0.130 ) X 0.030 0.0680 ni



2. a7 Y—h ( ock = 30 N/mm® )

Uit S AUARATHED
Vi = 0.1140 X 0.982 X 7 = 0. 784
Uit S AT AR L
V2 = 1/2 X ( 0.1140 4+ 0.0780 ) X 0.060 X 7 = 0. 040
Ui SRR T L2
V3 = 1/2 X ( 0.0780 4+ 0.0729 ) X 0.060 X 7 = 0.032
Hh FETREA TR
V4 = 0.0980 X 1.500 X 7 = 1. 029
Hh AT AL ER
V5 = 1/2 X ( 0.0980 4+ 0.0680 ) X 0.180 X 7 = 0.105
FEAEES
V6 = 0.0680 X 13.122 X 7 = 6.246 i
V1 = 8.236 m
3. MR
3-1. [EFE AN
3-1-1. FEYERRIEM
11 = { 15.904 — ( 0.491 + 0.030 + 0.030 ) X 2 } X 7 = 103.614
Al = 103.614 X 0.070 = 7.253

3-1-2. ViR

i S SBAHTHR
A2-1 = 0.190 X 0.491 x 2 X 7 = 1. 306
i 3¢ RUBHTZE (L
A2-2 = /2 x ( 0.190 4+ 0.130 ) X 0.030 X 2 X 7 = 0. 067
i S RUBHT 2L R 2
A2-3 = 1/2 X ( 0.130 4+ 0.070 ) X 0.030 X 2 X 7 = 0.042
A2 = 1. 415
3-1-3. HEEOARME G
A = 7.253 + 1.415 = 8. 668

( 0.1140 + 0.0049
+ ( 0.1140 -+ 0.0049

~

X 1.000004 X 1.007510 X 7

X 1.000004 X 1.0075610 X 7 = 1.677
Sl AL #HfA L

~—



4. P CHpf
FHiP CHilkBF : 1521.8

BNV EIEE @ vy = 2.482 kg/m
4-1. Fhkid P CHIM TR
4-1-1. FESR3 S AiMT
FEHT 1 @AT 470 A% - 4 K
1A% R : 6.015 m
M IE R
Ly = 4 X 6.015

4-1-2. F5vs 3 S REMT

REMT 1 TS 7= 0 A% - 4 K
1 ARY 7= IR : 6.015 m
PR IE R
Ly = 4 X 6.015

4-1-3. FRFEIREAT
REMT 1 AT Y 7= 0 A% - 6 A
FEMTEL : 3 AT
1AY== R : 6.015 m
PR IE R
Lys = 6 X 3 X 6.015

4-1-4. RGO P CHIMIRIE R
L, = 24.060 +  24.060 +  108.270

4-2. RGO P CHilME &
SW,, = HifED P CHIMRIERE X BT R SEE v,
=  156.390 X 2.482

24. 060

24. 060

108. 270

156. 390

388. 2

ke



5. —2F (¢35 )
i S AT
L. = 4 x ( 0.190 4+ 0.015 X 2 ) X 1.007510 X 7 6.206 m
i S AT FERALL
Lo = 4 x ( 0.190 4+ 0.015 X 2 ) X 1.007510 X 7 6.206 m
Hh RETRRA T iRt
L. = 6 X 3 xX ( 0.190 + 0.015 X 2 ) X 1.007510 X 7 27.928 m
TR AR b
L. 40.340 m
6. 77U E
i S AT
Lig = Lo 6.206 m
i S AT
Ltg2 == Ltc2 6. 206 m
Fh I AREA T
L, = L. 27.928 m
L, 40.340 m
7. EEEE ( 1821.8 H e )
Ny = (4 + 4+ 6 X3) X2 52 #H
8. BXEET ( 1S21.8 mm FrelE )
N, = N,, /2 = 52/ 2 26 A
9. r— 7 VKN L
L = L, 156.390 m
10. HwAT
Uit S AARATED
Al = 0.190 X 0.982 X 7 1.306 nf
Ui S AT AL L
A2 = /2 X ( 0.190 4+ 0.130 ) X 0.060 X 7 0.067 nf
Uit 3 UREAMT AL TR 2
A3 = /2 X ( 0.130 4+ 0.130 ) X 0.060 X 7 0.055 nf
R REA TR
A = 0.190 X 1.500 X 7 1.995 nf
Hh AT (LR
A5 = 1/2 x ( 0.190 + 0.130 ) X 0.180 X 7 0.202 nf
FEAEE
A6 = 0.130 X 13.122 X 7 11.941
A 15.566
11. BT
L = 16.000 X 2 32.000 m
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1. Rk
b4Sin HhApfT &t THEWT A 0. 300%
FHIALL 2K %N 8AN wewrABcE | 1000004
FEM T Hh TR AT Ve i
P 83° 00/ 007 [83° 00" 00”83 00 00”7
£ 1. 007510 1. 007510 1. 007510
X

890¢
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A=7.9637 m’

L=15. 695 m
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W
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s
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b
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=
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Wi ]

GE23mER
Al
949
| |
1
| < |
S L~
al
GE13mER
=4l Al
2068 448

~r
8 o g
K\ //’
a2 a3
FHERES
AL EEHTER
T w
3 8 3
s
ab
1-1. I
H = 0.600 m
1-2. WriEfs
al = 0.949 X 0.600 =
a2 = 2.068 X 0.600 =
a3 = 0.448 X 0.600 =
ad = 1/2 % ( 0.500 4+ 0.530 ) X 0.030 =
ab = 1/2 X ( 0.500 + 0.530 ) X 0.030
+ 0.500 X 0.030 =

600

0. 5694
1. 2408
0. 2688
0. 0155

0. 0305

B, 8. 5. B,

Be



2. AL U—h ( ock = 24 N/mm® )

2-1. A2451A1
V1 = 2.9372 X 0.600
+ 0.0155 X ( 3.435 + 2.495 )
+ 0.0305 x ( 0.521 + 0.500 )
+  1/2 x ( 0.0155 + 0.0305 ) X 0.030 X 3 = 1. 887
2-2. ALZE{R)
V2 = 7.9637 X 0.600
+ 0.0155 X ( 3.220 + 3.092 + 3.092 + 3.465 )
+ 0.0305 x ( 0.500 -+ 0.500 + 0.500 + 0.521 )
+  1/2 x ( 0.0155 + 0.0305 ) X 0.030 X 7 = 5. 044
2-3. ALA1AI
V3 = 0.4811 X 0.600
+ 0.0155 X 1. 576
+ 0.0305 X 0.521
+  1/2 x ( 0.0155 + 0.0305 ) X 0.030 X 1 = 0. 330
2-4. R =7 U — MEFESF
Vv = 1.887 + 5.044 -+ 0.330 = 7.261
3. AP
3-1. A2A451A1
Al = 2.9372 + 7.256 X 0.600
+ (0.5694 + 0.0305 ) X 1.000004 X 1.007510
+ ( 0.070 X 0.600 + 0.0155 ) x 1.000004 = 7.953
3-2. ALZE{H]
A2 = 7.9637 + 15.695 X 0.600
+ (1.2408 + 0.0305 ) X 1.000004 X 1.007510
+ ( 0.070 X 0.600 + 0.0305) X 1.000004 = 18. 734
3-3. ALA1AI
A3 = 0.4811 -+ 2.101 X 0.600
+ (0.2688 + 0.0305 ) X 1.000004 X 1.007510
+ ( 0.070 X 0.600 -+ 0.0155 ) X 1.000004 = 2.101

3-4. a7 U — NIKAFE
A = 7.953 + 18.734 + 2.101 _ 98, 788



4, ®ET

4-1. A245 101
Al = 2.9372
+ 0.030 X ( 3.435 + 2.495
+ 0.060 X ( 0.521 + 0.500
+ 1/2 x ( 0.030 + 0.060
4-2. ALZEAR
A2 = 7.9637
+ 0.030 X ( 3.220 + 3.092
+ 0.060 X ( 0.500 + 0.500
+ 1/2 x ( 0.030 4+ 0.060
4-3. ALAI
A3 = 0. 4811
+ 0.030 X 1.576
+ 0.060 X 0.521
+ 1/2 x ( 0.030 + 0.060
4-4. B
A = 3.180 + 8.480 + 0.561
5. Bk ( SD345 )
5-1. EMTHELAERT
B R 1E47=0
(kg)
D25 0
D22 0
D25~D16 D19 332
D16 0
/NEE 332
D13 0
D10 0
a7 332
5-2. B L8k
B 14720
(kg)
D25 0
D22 53
D25~D16 D19 467
D16 407
/NEtE 927
D13 85
D10 0
aF 1012

_|_

X 0.030 X

3.092 +

) X 0.030 X

) X 0.030 X

3

3. 465
+ 0.500 + 0.521

7

1

)
)

3. 180

8. 480

0. 561

12. 221



1

5-3. &

=R

e 1#E47=0

BRAEE )
D25 0
D22 53
D25~D16 D19 799
D16 407
INEE 1259
D13 85
D10 0
it 1344

6. AP —h

e 14720

BRAREE E3)
D19 0
D168 173
DI3H 0

7. AR

s 164720

EREE )
D22 0
D19 155
D16 0

8. HRHIER AR T
8-1. &I

[-150x75x6. 5x10

W o= 4. 500
W = 3. 500
8-2. AHE

[1-100x100x3. 2

W1 = 4. 200
W2 = 1. 800

8-3. PCHiltE ¢

W1 = 1. 200

X

oot USPR TRMmIX Bk L v

18. 60
18. 60

9.52
9.52

4.17

X 4
X 4
X

X 2
X 8

334. 8
260. 4

kg
kg

0. 595

159.9
34.3

kg
kg

0. 194

40.0

kg

0. 040

t



fepitfeb 3= 1

4. 1kARM
AL

A2

5. FrkigEE T —~7

ALER (
A2¥ (
6. 7 v H—Fp

ALES #&EM
A2ER H&ER
AT PR

AR PR AR

0. 400 0.040 X 2 ) X
0. 400 0.040 X 2 ) X
0. 400 0.040 X 6. 136
0. 400 0.040 X 7. 662
(2 A#L=1.01)
6. 136 0.400 X
7. 662 0.400 X
L = 250 mm
L = 250 mm
L = 455 mm % CFHE)
L = 455 mm ¥ CFHE)

6.136 X 0.5 L/m2

7.662 X 0.5 L/m2

1.0075 X 2)

1.0075 X 2)

1/sin 83°
X 2 X
X 2 X

00’

1.01

1.01

6. 136

7.662

13. 798

1.5

1.8

3.3

0. 098

0.123

0. 221

6. 136

7.662

00

13. 798

1. 007510

14. 023

17. 105

m

m

31. 128

21

37

31

37

m

R o



7

f 1l
PR iR

f el
PR AAR

( SD345 )

0. 250
0. 455

X

0.995
0.995

X

0.249 X 58
0.453 X 68

7. =k (v a i BALHAE=1000, v RA3E=1.1 )

A
ALHED

A2

0.030 X 0.020 x (

0.030 x 0.020 x (

1. 008

1. 130

+

+

1.003 )

0.977 )

X

X

1000 X

1000 X

0. 249 kg/A
0. 453 kg/ A
14. 4 kg
30.8 kg
45.2 kg
1.1 1.3 L
1.1 1.4 L
2.7 L



PR T X PEK - AT PR RERR X2 I
1. PEKIEE

N = 2 HFr

W = 9.4 X 2 = 18.8
2. HEKE ( STKR400 )

L = 0.9973 + 0.9973 = 1.995

= 34397
= 13.530
L = 16,450 =~ 16.060 — 30510
5. K¥k&E XA ( VP40A )
5-1. AX A
L = 1. 050 = 1. 050
5-2. BXA
L = 1. 400 = 1. 400
5-3. CH A
L = 0.730 = 0.730
5-4. DX A
L = 0. 800 = 0. 800

6. PEAKEX—IF N
N = 4 f#H



WET

1. FIR~TiE
ShHt FRAfT At FHEWT A B 0. 300%
FHIALL 2 64 8K HEWrAECEE | 1.000004
Fe i rf R AREAT AT
2L 83° 00" 00” [83° 00° 00”7 [83 00" 007
Bl 1. 007510 1. 007510 1. 007510
T X

FEHiE 15904

SHB)

L=16.516 I L=16.449 (FIPE L-16.483)

SR

GE1 | S1 C1 C2 Y1 C3 | C4 ) C | Y3 ] C6 | C7 S2 | GE2 | ¥
Bl | 618 | 617 | 612 | 608 | 608 | 605 | 604 | 604 | 622 | 624 | 665 | 742 | 759 | 627
B2 | 633 | 640 | 622 | 615 | 615 | 611 | 607 [ 605 | 603 [ 603 | 600 [ 604 | 606 | 611
H1 | 1067] 1061|1023 991 - | 965 | 945 | 931 - | 920 | 904 | 872 [ 865 | 956
H2 | 531 | 524 | 486 | 453 - | 428 | 408 | 394 | - 382 | 367 | 337 | 330 | 417
H3 | 330 | 331 [ 338 ] 350 - 367 | 389 | 415 | — | 446 | 481 | 527 | 535 | 402
H4 | 881 | 881 [ 889 | 901 - | 918 940 [ 966 | — | 997 | 1033 1079|1087 | 954




FRYEWT

ZEAA
FEHELT A HH AR RS R LA
B1 603~761 618~603
{682) {611
@ ® @ @ @ @
S = o7 il L4
g = L
T 2 Jle 8 g8 =8
E Sl a3 Slils B
= 8 g “F = Z| 8L
'.9: - < § um) g
s ! =) <= T
8w e
T Dla i
L / 8
15]~192 ML 4]
o
151~]92
a7
il
FEAER SR HRRGER O EHEITO
B2 600~633 602~ 606
@17 0d)
R1 R1
(o) ® Q) ® (1)
B\ N
=13 il A
iy lg = 13-
= < B g o _RE8
e ] 1 o n l
B EE&@ 111 91 il
w
®
149~159 15]~152
14] ~251
oo i 57
aRH LA
600~607
(604)
(1)
-
i
2 — e
g3 g
la
g8 8
1lg
L g|ge

249~251
(250)




Uity

AL{HI

618

537

1067

530
1
<
Akzgﬂc
1 NA_O 500

ERIr I
A

A21H]

=)

633

330

351

i

530,

I

881

530

il
A48 A21H
606
759
(1)
@@
€ 2 % gx g
8 * g
.
172
®
1-1. Wrifg
(1) £
PRRRBEHS LB
al = 1/2 x ( 0.414 + 0.408 ) X 0.682
+ 0.172 X 0.530 =
PRRBEH LR LIS
a2 = 1/2 x ( 0.529 + 0.522 ) X 0.611
+ 0.238 X 0.530
- 1/2 x ( 0.030 4+ 0.060 ) X 0.030 =
(2) FHm
FRRRBEH L@
al = 1/2 x ( 0.344 + 0.375 ) X 0.617
+ 0.154 X 0.530 —
FRRRBEH L@
a2 = 1/2 x ( 0.531 + 0.531 ) X 0.604
+ 0.151 X 0.530 =
PRRBEH LR LIS
a3 = 1/2 x ( 0.443 + 0.402 ) X 0.604
+ 0.250 X 0.530
- 1/2 x ( 0.030 4+ 0.060 ) X 0.030 =

0.3715

0. 4459

0.3034

0. 4008

0. 3863



2. a7 y—rh ( ock = 24 N/mn?)
V1 = 0.3715 X 0.800 = 0.297 i
V2 = 0.4459 X ( 16.483 - 0.800 ) = 6.993 nt
V3 = 0.3034 X 7.075 = 2.147 i
V4 = 0.4008 x 2.123 = 0.851 nt
V5 = 0.3863 X ( 16.065 - 7.075 - 2.123 ) = 2.653 i
SV = 12.941 m
3. A
Al = ( 0.956 -+ 0.417 + 0.172 ) X 16.483 = 25.466 nf
A2 = ( 0.954 —+ 0.402 + 0.196 ) X 16.065 = 24.933 pf
A3 = 1/2 x ( 0.513 + 0.537 ) X 0.618 = 0.324 nf
A4 = 1/2 x ( 0.225 + 0.233 ) X 0.530
- 1/2 X ( 0.030 4+ 0.060 ) X 0.030 = 0.120 nf
A5 = 1/2 x ( 0.330 + 0.351 ) X 0.633 = 0.216 nf
A6 = 0.530 X 0.158 = 0.084 nf
A7 = 1/2 x ( 0.335 + 0.330 ) X 0.759 = 0.252 ni
A8 = 0.530 X 0.172 = 0.091 nf
A9 = 1/2 x ( 0.535 + 0.557 ) X 0.606 = 0.331 nf
A10 = 0.530 X 0.152 = 0.081 nf
A = 51.898 nf
4. BkFH ( SD345 )
4-1. FEHTHELAERAR
s
s (kg)
D13 85
&t 85
4-2. BidGhe T8k
s
B
P (kg)
D13 810
&t 810
4-3. &EF
s
P (kg)
D13 895
it 895




=t
1. S = A
L = 16.484 + 16.065 =  32.549 m
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BIRE ™ 129 110
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EEEET
EEER 5 wEL 2
REER B WH ™ [10108| 1,010
L ET
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+E%E 3 SEEEHEL—13.9K
VERH SRS kBT LskmE) | ™ | 1601 160 [ m
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fEET
Ea=ig BEE 2
TR ’ ™| 8397|840
Bk T
¥+T .
(=3 = 10 1
KO + 3
roE g ™ 2023 300
pidl = W<1 3
= " m 42,0 40
B R ImsW<4 3
= " " ™1 1973|200
HmEEIE 2
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TEHERERR)
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THEXSH @ &3 W@z g Wi s B | Bt B#
BT
1RE RS AZU3FE300A m ERA0.52m3/10m
736 74
1S5RS B e A E2{A)i# 300 x 300 KT m 68 ;
HRR RC-40 t=100mm m? 0.66m3/10m
45 45
Ay nN—=hravsY—+H o ck=18N/mm? m? o1 o1 0.15m3/10m
. . 0.56m3/10m
Ear sy —+ o ck=18N/mm? m? 04 04 £10.71m3/10m
SL—F o BEHTAI300 L=1.0m T-25 # 0 .
UFE7Ya—LA UF-250 m
1105 | 111
U7 2—A UF-300 m
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A o ck=18N/mm?2 Sl 1B Y 03921
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57l
A 0 ck=18N/mm?2 Sl 1B/ Y 0,392
G2-B600-L600-H600 1.0 1
GBI
S o ck=18N/mm?2 El 174 Y 0.676
G2-B800-L800-H1000 1.0 1
k=t D13 N 20 5 1T Y 2.04
mimiRE W8 x 8% w
1.0 1
Jskz >
Sokie ®150
IR A 1@ 60 6
&KL &l
K i 2.0 2

BWR 2




TEHEBERHR)
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. T A7 7L R
Gl t=4
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s SHERRE 15cmLTF ™| ee02| eeo| "
B ALIE T
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ROEHR 3 EWREEREL=16.9k
- SERIERE18.5km bl T (14.4kmB) | T 31 5 [ m
#HCon
SRR 3 SERIEREL=16.9K
- SERIERE18.5km bl T (14.4km@) | T 47 5 | m
TAT77ILk
SER 3 SERIEREL=21.6k
= ERIERE22. 0kmbL T (11.5kmi) | " 26.4 26 | IR m
Ay oy — hEE av oy — k(ER) t
73 7|3.1x2.35
Ay oy — fEE a4y — kG t
118 12 [47x25
T A7 7L kAR TRA7 7 t
62.0 62 |26.4x2.35
MET
TR7 7L NEET
(EEH)
—F}gﬁﬁﬁ BE/V7v¥+ 7> RC-30 mz
t=100mm 7565 | 757
TR7 7L NEET
(BT EB)
— By 15 RC-30 "
t=110mm 103.4 103
BHEMRRET
BHEMRRET
) 24-12-25(20)B8
SRR E Al ) (20) m3
TLEED Y 12.38 12
. SD345_D16~725 } oo
— B 10tR 1725 173 &
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TEHERTERER)
L)L 1 L)L 2 L~)L3 L4 L~NJ)Lh
IEXSH I 1&7) | R | % ® | 3E Vi
BT BREET
ERATEIEET
X
HEEAR B49.1m3. EEERT2M2 | &
Ab-2 1.0 1
BT m
215 22
BEIY U=
HMBEI> 7 U—F W=500mm t=100~200mm
m
(HEKA) o ck=18N/mm? 114.9 115
FHW=972mm t=100mm
1BpEaIZ Y — kb m
o ck=18N/mm? 116.0 116
FHHW=430mm t=100mm
18R 2 ) — b m
o ck=18N/mm? 41.6 42
KB T
ITEAEKT
tiEEe! B F—
AtlEey v i m3| 1355| 140
BET
m3 | 1,559.7 | 1,600
T RC-40 t=10cm m3 59.9 g0 |299-4m2>0.Im
. N _ 1.524 x3.048 X 6=27.9m2
HEAIR kIR E m2 | 279 28 "
kiR &kt
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T T fihizR

4 B i XA & i £
PEHI T

HH I T8 Hwp m’ 61.9

EhiFELy Bt m’ 160. 1
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NO. 0 0.0 0.9 0.0
NO. 1 20. 0 0.9 0. 90 18.0 0.0 0. 00 0.0
NO. 2 20. 0 0.8 0. 85 17.0 0.0 0. 00 0.0
NO. 3 20. 0 0.4 0. 60 12.0 0.0 0. 00 0.0
NO. 4 20. 0 0.1 0. 25 5.0 0.0 0. 00 0.0
BC. 1 5.1 0.2 0.15 0.8 0.0 0. 00 0.0
NO. 5 14.9 0.2 0. 20 3.0 0.0 0. 00 0.0
SP. 1 10. 4 0.1 0.15 1.6 0.0 0. 00 0.0
NO. 6 9.6 0.1 0.10 1.0 0.0 0. 00 0.0
EC. 1 15.8 0.2 0.15 2.4 0.0 0. 00 0.0
NO. 7 4.2 0.3 0.25 1.1 0.0 0. 00 0.0
NO. 8 0.15 0.0 0. 00 0.0
KE2-2 0. 00 0.0 0. 00 0.0
NO. 9 0. 00 0.0 0. 00 0.0
NO. 10 0. 00 0.0 0. 00 0.0
NO. 11 0. 00 0.0 0. 00 0.0
NO. 12 0. 00 0.0 0. 00 0.0
NO. 13 0. 00 0.0 0. 00 0.0
NO. 14 0. 00 0.0 0. 00 0.0
NO. 15 0. 00 0.0 0. 00 0.0
NO. 16 0. 00 0.0 0. 00 0.0
NO. 17 0. 00 0.0 0. 00 0.0
NO. 18 0. 00 0.0 0. 00 0.0

NO. 18+5.0 0. 00 0.0 0. 00 0.0
NO. 19 0. 00 0.0 0. 00 0.0
NO. 20 0. 00 0.0 0. 00 0.0
NO. 21 0. 00 0.0 0. 00 0.0
NO. 22 0. 00 0.0 0. 00 0.0
NO. 23 0. 00 0.0 0. 00 0.0
NO. 24 0. 00 0.0 0. 00 0.0
/NEE 140. 0 61.9 0.0
At 140. 0 61.9 0.0
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NO. 0 0.0 0.0 3.3
NO. 1 20.0 0.7 0. 35 7.0 3.1 3.20 64.0
NO. 2 20.0 1.3 1. 00 20.0 2.4 2.75 55.0
NO. 3 20.0 1.3 1. 30 26.0 2.7 2.55 51.0
NO. 4 20.0 1.8 1.55 31.0 3.1 2. 90 58.0
BC. 1 5.1 0.8 1. 30 6.6 2.9 3.00 15.3
NO. 5 14.9 1.6 1. 20 17.9 2.8 2. 85 42.5
SP. 1 10. 4 1.6 1. 60 16. 6 2.7 2.75 28.6
NO. 6 9.6 0.8 1. 20 11.5 3.0 2. 85 27. 4
EC. 1 15.8 1.4 1. 10 17. 4 2.0 2. 50 39.5
NO. 7 4.2 1.5 1. 45 6.1 1.9 1.95 8.2
NO. 8 0.75 0.0 0.95 0.0
KE2-2 0. 00 0.0 0. 00 0.0
NO. 9 0. 00 0.0 0. 00 0.0
NO. 10 0. 00 0.0 0. 00 0.0
NO. 11 0. 00 0.0 0. 00 0.0
NO. 12 0. 00 0.0 0. 00 0.0
NO. 13 0. 00 0.0 0. 00 0.0
NO. 14 0. 00 0.0 0. 00 0.0
NO. 15 0. 00 0.0 0. 00 0.0
NO. 16 0. 00 0.0 0. 00 0.0
NO. 17 0. 00 0.0 0. 00 0.0
NO. 18 0. 00 0.0 0. 00 0.0

NO. 18+5. 0. 00 0.0
NO. 19 0. 00 0.0
NO. 20 0. 00 0.0
NO. 21 0. 00 0.0
NO. 22 0. 00 0.0
NO. 23 0. 00 0.0
NO. 24 0. 00 0.0
/NEE 140. 0 160. 1 389.5
At 140.0 160. 1 389. 5
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NO. 0 0.0 0.1 0.0
NO. 1 20.0 0.8 0. 45 9.0 0.0 0. 00 .0
NO. 2 20.0 0.0 0. 40 8.0 1.2 0. 60 .0
NO. 3 20.0 0.9 0. 45 9.0 0.0 0. 60 .0
NO. 4 20.0 1.4 1. 15 23.0 0.0 0. 00 0.0
BC. 1 5.1 1.4 1. 40 7.1 0.0 0. 00 0.0
NO. 5 14.9 1.7 1. 55 23. 1 0.0 0. 00 0.0
SP. 1 10. 4 1.6 1. 65 17.2 0.0 0. 00 0.0
NO. 6 9.6 0.7 1. 15 11.0 0.0 0. 00 0.0
EC. 1 15.8 0.0 0.35 5.5 1.5 0.75 11.9
NO. 7 4.2 0.0 0. 00 0.0 1.6 1.55 6.5
NO. 8 0. 00 0.0 0. 80 0.0
KE2-2 0. 00 0.0 0. 00 0.0
NO. 9 0. 00 0.0 0. 00 0.0
NO. 10 0. 00 0.0 0. 00 0.0
NO. 11 0. 00 0.0 0. 00 0.0
NO. 12 0. 00 0.0 0. 00 0.0
NO. 13 0. 00 0.0 0. 00 0.0
NO. 14 0. 00 0.0 0. 00 0.0
NO. 15 0. 00 0.0 0. 00 0.0
NO. 16 0. 00 0.0 0. 00 0.0
NO. 17 0. 00 0.0 0. 00 0.0
NO. 18 0. 00 0.0 0. 00 0.0

NO. 18+5.0 0. 00 0.0 0. 00 0.0
NO. 19 0. 00 0.0 0. 00 0.0
NO. 20 0. 00 0.0 0. 00 0.0
NO. 21 0. 00 0.0 0. 00 0.0
NO. 22 0. 00 0.0 0. 00 0.0
NO. 23 0. 00 0.0 0. 00 0.0
NO. 24 0. 00 0.0 0. 00 0.0
/NEE 140. 0 112.9 42. 4
At 140. 0 112.9 42. 4
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NO. 0 0.0 3.3
NO. 1 20. 0 3.7 3.50 70.0
NO. 2 20. 0 3.8 3.75 75.0
NO. 3 20. 0 3.9 3.85 77.0
NO. 4 20. 0 4.0 3.95 79.0
BC. 1 5.1 4.3 4.15 21.2
NO. 5 14.9 4.2 4. 25 63.3
SP. 1 10. 4 4.6 4. 40 45.8
NO. 6 9.6 4.1 4. 35 41.8
EC. 1 15.8 3.9 4. 00 63. 2
NO. 7 4.2 3.9 3.90 16. 4
NO. 8 1.95 0.0
KE2-2 0. 00 0.0
NO. 9 0. 00 0.0
NO. 10 0. 00 0.0
NO. 11 0. 00 0.0
NO. 12 0. 00 0.0
NO. 13 0. 00 0.0
NO. 14 0. 00 0.0
NO. 15 0. 00 0.0
NO. 16 0. 00 0.0
NO. 17 0. 00 0.0
NO. 18 0. 00 0.0

NO. 18+5. 0. 00 0.0
NO. 19 0. 00 0.0
NO. 20 0. 00 0.0
NO. 21 0. 00 0.0
NO. 22 0. 00 0.0
NO. 23 0. 00 0.0
NO. 24 0. 00 0.0
/NEE 140. 0 552. 7
At 140. 0 552. 7
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Wr Tt RE| SRR L P\ T R | A4  RE | ST

NO. 0 0.0 0.0 0.0
NO. 1 20.0 3.2 1. 60 32.0 0.0 0. 00 0.0
NO. 2 20.0 0.0 1. 60 32.0 6. 4 3. 20 64. 0
NO. 3 20.0 0.8 0. 40 8.0 7.7 7.05 141. 0
NO. 4 20.0 3.5 2.15 43.0 7.8 7.75 155. 0
BC. 1 5.1 3.3 3. 40 17.3 0.0 3.90 19.9
NO. 5 14.9 3.2 3.25 48. 4 0.0 0. 00 0.0
SP. 1 10. 4 5.0 4.10 42.6 0.0 0. 00 0.0
NO. 6 9.6 2.4 3.70 35.5 2.5 1.25 12.0
EC. 1 15.8 0.0 1. 20 19.0 4.1 3.30 52. 1
NO. 7 4.2 0.0 0. 00 0.0 1.5 2. 80 11.8
NO. 8 0. 00 0.0 0.75 0.0
KE2-2 0. 00 0.0 0. 00 0.0
NO. 9 0. 00 0.0 0. 00 0.0
NO. 10 0. 00 0.0 0. 00 0.0
NO. 11 0. 00 0.0 0. 00 0.0
NO. 12 0. 00 0.0 0. 00 0.0
NO. 13 0. 00 0.0 0. 00 0.0
NO. 14 0. 00 0.0 0. 00 0.0
NO. 15 0. 00 0.0 0. 00 0.0
NO. 16 0. 00 0.0 0. 00 0.0
NO. 17 0. 00 0.0 0. 00 0.0
NO. 18 0. 00 0.0 0. 00 0.0

NO. 18+5.0 0. 00 0.0 0. 00 0.0
NO. 19 0. 00 0.0 0. 00 0.0
NO. 20 0. 00 0.0 0. 00 0.0
NO. 21 0. 00 0.0 0. 00 0.0
NO. 22 0. 00 0.0 0. 00 0.0
NO. 23 0. 00 0.0 0. 00 0.0
NO. 24 0. 00 0.0 0. 00 0.0
/NEE 140. 0 277. 8 455.8
At 140. 0 277.8 455. 8




HERRE

FEARRE T
WO AW 4.0=W
Wr TR SRR | S i

NO. 0 0.0 0.0
NO. 1 20. 0 0.0 0. 00 0.0
NO. 2 20. 0 4.5 2.25 45. 0
NO. 3 20. 0 3.4 3.95 79.0
NO. 4 20. 0 0.0 1.70 34.0
BC. 1 5.1 0.0 0. 00 0.0
NO. 5 14.9 0.0 0. 00 0.0
SP. 1 10. 4 0.0 0. 00 0.0
NO. 6 9.6 0.0 0. 00 0.0
EC. 1 15.8 5.5 2.75 43.5
NO. 7 4.2 9.8 7.65 32.1
NO. 8 4. 90 0.0
KE2-2 0. 00 0.0
NO. 9 0. 00 0.0
NO. 10 0. 00 0.0
NO. 11 0. 00 0.0
NO. 12 0. 00 0.0
NO. 13 0. 00 0.0
NO. 14 0. 00 0.0
NO. 15 0. 00 0.0
NO. 16 0. 00 0.0
NO. 17 0. 00 0.0
NO. 18 0. 00 0.0

NO. 18+5. 0. 00 0.0
NO. 19 0. 00 0.0
NO. 20 0. 00 0.0
NO. 21 0. 00 0.0
NO. 22 0. 00 0.0
NO. 23 0. 00 0.0
NO. 24 0. 00 0.0
/NEE 140. 0 233. 6
At 140. 0 233. 6
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NO. 0 0.0 0.1 0.1
NO. 1 20.0 0.1 0.10 2.0 0.7 0. 40 8.0
NO. 2 20.0 0.1 0.10 2.0 0.0 0.35 7.0
NO. 3 20.0 0.1 0.10 2.0 0.1 0.05 1.0
NO. 4 20.0 0.2 0.15 3.0 0.6 0.35 7.0
BC. 1 5.1 0.2 0.20 1.0 0.6 0. 60 3.1
NO. 5 14.9 0.2 0. 20 3.0 0.8 0.70 10. 4
SP. 1 10. 4 0.2 0.20 2.1 0.8 0. 80 8.3
NO. 6 9.6 0.2 0.20 1.9 0.2 0. 50 4.8
EC. 1 15.8 0.1 0.15 2.4 0.0 0.10 1.6
NO. 7 4.2 0.1 0.10 0. 4 0.0 0. 00 0.0
NO. 8 0. 05 0.0 0. 00 0.0
KE2-2 0. 00 0.0 0. 00 0.0
NO. 9 0. 00 0.0 0. 00 0.0
NO. 10 0. 00 0.0 0. 00 0.0
NO. 11 0. 00 0.0 0. 00 0.0
NO. 12 0. 00 0.0 0. 00 0.0
NO. 13 0. 00 0.0 0. 00 0.0
NO. 14 0. 00 0.0 0. 00 0.0
NO. 15 0. 00 0.0 0. 00 0.0
NO. 16 0. 00 0.0 0. 00 0.0
NO. 17 0. 00 0.0 0. 00 0.0
NO. 18 0. 00 0.0 0. 00 0.0

NO. 18+5. 0. 00 0.0 0. 00 0.0
NO. 19 0. 00 0.0 0. 00 0.0
NO. 20 0. 00 0.0 0. 00 0.0
NO. 21 0. 00 0.0 0. 00 0.0
NO. 22 0. 00 0.0 0. 00 0.0
NO. 23 0. 00 0.0 0. 00 0.0
NO. 24 0. 00 0.0 0. 00 0.0
/NEE 140. 0 19.8 51.2
At 140. 0 19.8 51.2
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NO. 0 0.0 0.0 0.0 0.7
NO. 1 20. 0 0.0 0. 00 0.0 20.0 6. 4 3.55 71.0
NO. 2 20. 0 0.0 0. 00 0.0 20.0 7.8 7.10 142. 0
NO. 3 20. 0 0.0 0. 00 0.0 20.0 9.1 8. 45 169. 0
NO. 4 20. 0 0.9 0. 45 9.0 | 20.0 10. 2 9. 65 193.0
BC. 1 5.1 1.2 1.05 5.4 5.1 6.1 8.15 41.6
NO. 5 14.9 1.9 1.55 23.1 ] 14.9 4.8 5. 45 81.2
SP. 1 10. 4 2.4 2.15 22.4 | 10.4 5.4 5.10 53.0
NO. 6 9.6 0.2 1.30 12.5 9.6 6.0 5.70 54.7
EC. 1 15.8 0.0 0.10 1.6 || 15.8 6.9 6. 45 101.9
NO. 7 4.2 0.0 0. 00 0.0 4.2 7.1 7.00 29. 4
NO. 8 0. 00 0.0 3.55 0.0
KE2-2 0. 00 0.0 0. 00 0.0
NO. 9 0. 00 0.0 0. 00 0.0
NO. 10 0. 00 0.0 0. 00 0.0
NO. 11 0. 00 0.0 0. 00 0.0
NO. 12 0. 00 0.0 0. 00 0.0
NO. 13 0. 00 0.0 0. 00 0.0
NO. 14 0. 00 0.0 0. 00 0.0
NO. 15 0. 00 0.0 0. 00 0.0
NO. 16 0. 00 0.0 0. 00 0.0
NO. 17 0. 00 0.0 0. 00 0.0
NO. 18 0. 00 0.0 0. 00 0.0

NO. 18+5. 0 0. 00 0.0 0. 00 0.0
NO. 19 0. 00 0.0 0. 00 0.0
NO. 20 0. 00 0.0 0. 00 0.0
NO. 21 0. 00 0.0 0. 00 0.0
NO. 22 0. 00 0.0 0. 00 0.0
NO. 23 0. 00 0.0 0. 00 0.0
NO. 24 0. 00 0.0 0. 00 0.0
/NGE 140. 0 74.0 || 140.0 936. 8
At 140.0 74.0 || 140.0 936. 8
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| B 00 k500 Bl | m 6.5
SEME A RC-40 t=100mm | m2 4.5
A 8=k aryy—F o ck=18N/mm2 m3 0.1
JEfim 27V —1R| o ck=18N/mm2 m3 0.4
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A T X 1.0
UF7 U a2—2Ah UF-250 m 110.5
UF7 U a—A UF-300 m 44. 0
UF7 U a—2Ah UF-350 m 54.7
BF& 2FEB300 /1 e 10. 0
BIRT X 1.0
VRIS IE T PI-RCIfE-DI50 | m 15. 8
S IE T PI-RCIfE-D250 | m 12. 7
AR T P1-RC1FE-D300 | m 20.7
1270 I T HEE1FE-D600 | m 13.4
KA VU ¢ 100 m 13.9
HEAKE VU ¢ 100 m 3.3
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A RC-40 t=150mm_ | m2 3.2| 1A% Y 0.810 m”
7 L—F 7% |B500-L500H T-25| # 4.0
SN TR P G1-B500-L800-H1000 | f&i 1.0
a7 U —k o ck=18N/mm2 | m3 0.568| Lf&FT24 Y 0.568 m’
By el RC-40 t=150mm [ m2 11 If#FT4 Y 1.080 m®
B D13 A 2.0
7 L—F o 7% |B500-L800H T-25| # 1.0
R IK ik G2-B500-L500-H500] f&i it 4.0
a2y 7Y —k o ck=18N/mm2 | m3 1. 164) 1f#FHT4 Y 0.291 m®
A RC-40 t=150mm_ | m2 3.2 187740 0.810 m®
AL e 2.0
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a7 U —k o ck=18N/mm2 | m3 0.392| If&FT4 Y 0.392 m®
S Y el RC-40 t=150mm_ [ m2 0.8| 140 0.810 m”
AL 58 1.0
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SHULE 7K M
G2-B600-1.600-H600 D +w 1.0 3.2 | 0.90 2.5 2.8 0.4 1.0
6 LR K Pk
G2-B800-1.800-H1000 D +w 1.0 3.8 | 0.90 2.7 3.0 0.8 1.4
KL D +w 2.0 0.6 | 0.90 0.6 0.7  -0.1 0.2
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VRSE B (8 ATH3FE300A Jaie G
o i I

A T B AL m fi fir i B AL m fi
No. 0 — 15.0 ~ No. 0 — 3.3 10. 8 No. 16 + 9.0 ~ No. 18 + 5.2
No. 0— 3.3~ No 1+ 7.9 31.1
No. 1 + 15.4 ~ No. 3+ 7.1 31.7
No. 6 + 0.9 ~ No 8 + 17.1
No. 8 + 17.1 ~ No. 11 + 12.1
No. 13 + 5.7 ~ No 14 + 14.3
No. 14 + 14.3 ~ No. 17 + 9.8
No. 17 + 9.8 ~ No. 18 + 6.8
No. 18 + 14.4 ~ No. 22 + 5.6

&t 73.6




12t 1 A0 74300 X 300 KEITF BT R - -

7 A 1A

mﬁk

fir & H O{Z m i fir HO{Z m

No. 1+ 7.9~ No 1+ 15.4 6.8

it 6.8




I

UFET Y 2— 2 UF-250 =R O E

Vs 1l £ il
fir [ B m fili = fir [ B m
No 0+ 10.1~N. 4+ 6.1 75.2
No 4+ 6.1~N. 6+ 2.6 35.3

No. 6+ 2.6~ No 8+ 7.3

No. 8 + 15.7 ~ No. 12 + 14.2

iy 110.5




UFET Y 2— 2 UF-300 =R O E

7 18 vsl 1A

fir & H O{Z m i fir [ HO{Z m

(No. 0+ 88 ~ (No. 0+ 53.2) 44.0

&t 44.0




UFEZ Y 2—Ah UF-350 JIE g E
s (il i (i

i 8 HOAL m fii a [ HOAL m ]
Noo 3+ 71~MN 6+ 0.9 54.7
No. 22+ 1.0~ No. 22+ 19.0
Noo 22+ 19.0~ No. 24+ 3.2
No. 24+ 17.8 ~No. 25+ 9.5

At 54.7




9FEB300 =R O E

1.1 & A1)
HOAL R T v & BN K
MNo. 0 +32.3)~ (No. 0 + 36.9) 10.0

iy 10.0
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H A m ] % iz

HOfZ m

15.8

a3t 15.8
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A
[ B L m

= Az

B A7 m ]
No. 0— 3.9~ No 0+ 10.1 12.7

No. 8+ 7.3~ No 8 + 15.7

&t 12.7




ARG IR T P1-RC17&-D300 AE g E
I l i il
i [ Hoff m 1 fir i3 HOff m 1
No. 35+ 10.7 ~ No. 35 + 15.7
(No. 0 +53.2)~ (No. 0+ 66.9) 16. 2
(No. 0 +66.9)~ (No. 0+ 69.8) 4.5
it 20.7




12780 s I B & 15E-D600 i il =
1l & 1l
iz [ B L m ik A i B L m i
Noo 0— 3.4 13.4
it 13.4
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